Q.SAFE

MQS-A TYPE

manuli’

Pressure Drop [MPa]

— E /{ === /’ : }'/’ ==
v 7
/ A
y /1/
010 // / v ’/ iar,
7 / /I»
/ / % /f //
0§ 1 0 24 32
0,01 ?ﬁ

10,0 100,0

Flow Rate [I/min]

1000,0

Pressure Drop [PSI]

10000,0

‘l‘ HYDRAULICS

ISO A POPPET VALVES

Pressure Drop

" Z SiEv i
7% // yal' g //
Al L1y AV
ARV A
// / / / //
1000 /.—‘ an g =7 F /
A /- // / /
/ Vilp
04 06| pa|| |12 16| 20 |24

1.0 100 . 10.0,0 1000,¢
Flow Rate [US gallons/min]

TECHNICAL DATA

WORKING CONNECTION SPILLAGE CONNECTION/
PRESSU.RE at 0.2 MPa EFFORT Copnectlon/ MINIMUM BURST PRESSURE DISCONNECTION
(Dynamic) of pressure Disconnec- UNDER PRESSURE
drop tion
: us cubic
Dash MPa PSlI |/min GPM inch
6.3 Ya 04 35 | 5075 5 1.3 60 13,5 | 0.7 ]| 0.043 | 200 | 29000 | 150 | 21750 | 150 | 21750 Not allowed
10 % 06 35 5075 37 9.2 80 18.0 1.4 ]0.085] 140 20300 150 | 21750 150 21750 Not allowed
12.5 Ya 08 30 4350 68 19.8 80 18.0 2 0.122 | 125 18125 150 | 21750 150 21750 Not allowed
20 Y4 12 25 3625 | 142 38.8 90 20.2 7 0.427 | 100 14500 120 17400 100 14500 Not allowed
25 1 16 25 3625 | 250 66.1 90 20.2 11 0.671 | 100 14500 100 14500 100 14500 Not allowed
315 | 1% 20 25 | 3625 | 390 | 103.0| 90 20.2 15 | 0.915] 100 | 14500 | 100 | 14500 | 105 | 15225 Not allowed
40 1% 24 22 3190 | 553 | 146.1 | 100 225 21 12811 90 13050 100 14500 100 14500 Not allowed
51 2 32 15 | 2175 | 838 | 2214 | 225 | 50.6 45 | 2.746 | 60 8700 60 8700 90 13050 Not allowed

The rated flow represents the normal operating condition. The maximum recommended flow rate is equal to 1.5 times the rated flow

PRODUCT DESCRIPTION

Reference series on the agriculture and
industrial market

Simple connection and disconnection by pulling
back the sleeve

Positive, quick connection of the male into the
female by the latching ball system

Shut-off by poppet valve

High resistant materials and hardened male and
sleeve to withstand the brinelling effect
Interchangeability according to ISO 7241

series A

MATERIAL

Female and male couplings in steel, with some hardened areas,
in correspondence to the most stressed points. Springs in C98
steel, seals in NBR (other materials on request) and back-up ring
in PTFE. PU seal on %" female available on request.

WORKING TEMPERATURE

-22°F up to +230°F (-30°C up to +110°C)

For other temperatures, the coupling may be assembled with the
specific seals

SAFETY FACTOR

4:1 for dynamic pressures

IMPULSE PRESSURES

100,000 cycles at 133% of the rated one (freq. 1Hz)

TEST SPECIFICATIONS

ISO 18869




manuli’

Q.SAFE __ MQS-ATYPE ‘l‘
PR
SESIIRESS
ke ksl
ke ks
ey [sssd
K5 fsessd
Ko e
Setose|lsogeses
—— 1553 | KX =5
R e
e |85
s ey
Sesses[iosesss
RS 53559
JE IR | SN | N {o25cote {|otecet | N | JR U
s o
s 854
e s
— e s e

K35 5253
R s
6254 e

4 s [lsssess
[0 [RXR
sl TO 1SO 7-1

PART NUMBER DIMENSIONS mm

(03
D
n

THREAD
Dash Female coupling Male coupling C D
6.3 1/4" -04 Q00811021A-04-04 | Q00211021A-04-04 1/4" 48.8 | 34.5 | A+B-143 | 024 | 17 17
10 3/8" -06 Q00811021A-06-06 | Q00211021A-06-06 3/8" 57.8 | 40 A+B-17,8 | @30 | 22 22
125 1/2" -08 Q00811021A-08-08 | Q00211021A-08-08 1/2" 67.1 | 45 A+B-22,1 | @38 | 27 27
20 3/4" -12 Q00811021A-12-12 | Q00211021A-12-12 3/4" 83.5 | 56.5 A+B-27 o045 | 34 34
25 1" -16 QO00811021A-16-16 Q00211021A-16-16 1" 97.9 | 645 | A+B-32,7 |052,3] 41 41
C
A B Q00811050A
A o - -

Dash

PART NUMBER

Female coupling

Male coupling

THREAD

DIMENSIO
c

BSP TERMINATION ENDS

TOISO 8434-6

NS mm
D

10 3/8" -06 Q00811050A-06-06 | Q00211050A-06-06 3/8" 64.7 | 56.2 | A+B-17,6 | 230 | 22 22
12.5 1/2" -08 Q00811050A-08-06 | Q00211050A-08-06 3/8" 68.9 | 57.7 | A+B-21,8 | @38 | 27 27
12.5 1/2" -08 Q00811050A-08-08 | Q00211050A-08-08 1/2" 7141602 | A+B-21,8 | 238 | 27 27

WWW.MANULI-HYDRAULICS.COM



manuli

RS [[9055¢d
0525 | [505cd
[005250d | RS2
R 50550
[0052504 | R50¢5d
R [ [5050Y
1905250 | RSeSe5
R [5055¢9
[052504 | 8¢5
R332 1555554
— IRIXY | KX2A = —— |
R[50
1005250 | R9e25
R [555¢9
[6052504 | 8¢5
[0 | K0
| | || 20 %! [| X202 1
[RIKYRIRA
IR | R0
RS2 [[590Y
1605504 | RSe25
KRR R
103058 || e3osed
Rote2e [ 100203
) E— 1005559 | RS0 e
RS [ [590Y
[5055¢d | RSe25
KRR R
R RXXA
58|25
[005559 | RS0
RS [ [50395¢Y
1905504 | RSS2Sd
[50850d | 50054
B 855

Dash

PART NUMBER

THREAD

M

Q00811041A
Q00211041A

HYDRAULICS

BSP TERMINATION ENDS
TO DIN 3852 X TYPE

DIMENSIONS mm
c D

Female coupling

Male coupling

6.3 1/4" -04 Q00811041A-04-04 Q00211041A-04-04 1/4" 488 | 34.5 A+B-14,2 024 17 17
10 3/8" -06 Q00811041A-06-04 Q00211041A-06-04 1/4" 63 545 A+B-17,5 230 22 22
10 3/8" -06 Q00811041A-06-06 Q00211041A-06-06 3/8" 57.8 40 A+B-17,5 230 22 22
12.5 1/2" -08 Q00811041A-08-06 Q00211041A-08-06 3/8" 66.2 55 A+B-21,8 038 27 27
12.5 1/2" -08 Q00811041A-08-08 Q00211041A-08-08 1/2" 67 45 A+B-21,8 038 27 27
12.5 1/2" -08 Q00811041A-08-12 Q00211041A-08-12 3/4" 69 53 A+B-21,8 038 34 34
20 3/4" -12 Q00811041A-12-08 Q00211041A-12-08 1/2" 85.7 | 66.3 A+B-26,7 045 34 34
20 3/4" -12 Q00811041A-12-12 Q00211041A-12-12 3/4" 83.5 | 56.5 A+B-26,7 045 34 34
25 1" -16 QO00811041A-16-12 Q00211041A-16-12 3/4" 979 | 64.5 A+B-32,7 052 41 41
25 1" -16 Q00811041A-16-16 Q00211041A-16-16 1" 979 | 64.5 A+B-32,7 052 41 41
BiES) 1.1/4" -20 Q00811041A-20-20 Q00211041A-20-20 1.1/4" 118 75 A+B-43 069 50 50
40 1.1/2" -24 QO00811041A-24-24 Q00211041A-24-24 1.1/2" 133 84 A+B-49 083 60 60
51 2" -32 Q00811041A-32-32 Q00211041A-32-32 2" 164 104 A+B-60,2 2100 75 75

c Q00811110A

§ ° Q00211110A

1 o 4 B

s METRIC TERMINATION ENDS

TO 1SO 8434-1

L SERIES

PART NUMBER DIMENSIONS mm
THREAD
Dash Female coupling Male coupling c D
6.3 1/4" -04 Q00811110A-04-14 | Q00211110A-04-14 M14x1,5 52.1 | 42 A+B-142 | 924 | 17 17
10 3/8" -06 Q00811110A-06-12 Q00211110A-06-12 M12x1,5 61 52.5 | A+B-17,5 030 | 22 22
10 3/8" -06 Q00811110A-06-14 | Q00211110A-06-14 M14x1,5 61 | 525 | A+B-175 | 030 | 22 22
10 3/8" -06 Q00811110A-06-16 | Q00211110A-06-16 M16x1,5 61 | 525 | A+B-175 | 030 | 22 22
10 3/8" -06 Q00811110A-06-18 | Q00211110A-06-18 M18x1,5 61 | 525 | A+B-175 | 030 | 22 22
12.5 1/2" -08 Q00811110A-08-14 Q00211110A-08-14 M14x1,5 65.2 | 54 A+B-21,8 238 27 27
12.5 1/2" -08 Q00811110A-08-16 Q00211110A-08-16 M16x1,5 66.2 | 55 A+B-21,8 238 | 27 27
12.5 1/2" -08 Q00811110A-08-18 | Q00211110A-08-18 M18x1,5 65.2 | 54 A+B-21,8 | 038 | 27 27
12.5 1/2" -08 QO00811110A-08-22 Q00211110A-08-22 M22x1,5 66.2 | 55 A+B-21,8 238 | 27 27
12.5 1/2" -08 Q00811110A-08-26 | Q00211110A-08-26 M26x1,5 66.2 | 55 A+B-21,8 | @38 | 27 27
20 3/4" -12 QO00811110A-12-18 Q00211110A-12-18 M18x1,5 85.4 | 66.3 | A+B-26,7 045 | 34 34
20 3/4" -12 Q00811110A-12-22 | Q00211110A-12-22 M22x1,5 85.7 | 66.3 | A+B-26,7 | 045 | 34 | 34
20 3/4" -12 QO00811110A-12-26 Q00211110A-12-26 M26x1,5 85.7 | 66.3 | A+B-26,7 045 | 34 34
20 3/4" -12 QO00811110A-12-30 Q00211110A-12-30 M30x2 87.7 | 68.3 | A+B-26,7 045 34 34
25 1" -16 Q00811110A-16-26 | Q00211110A-16-26 M26x1,5 94.5 ] 79.5 | A+B-82,7 | 052 | 41 41
25 1" -16 Q00811110A-16-30 Q00211110A-16-30 M30x2 96.5 | 81.5 | A+B-32,7 052 | 41 41
25 1" -16 Q00811110A-16-36 | Q00211110A-16-36 M36x2 97 | 81.5 | A+B-32,7 | @52 | 41 41

®




(03
D
sy

manuli’

Q.SAFE MQS-A TYPE ‘l‘
ISO A POPPET VALVES HYDRAULICS
C
- . B00811120A
""" Q00211120A
a ‘f - —
| METRIC TERMINATION ENDS
TO ISO 8434-1
S SERIES

Dash

PART NUMBER

Female coupling

Male coupling

THREAD

DIMENSIONS mm

Cc

D

10 3/8" -06 Q00811120A-06-16 | Q00211120A-06-16 M16x1,5 62 | 585 | A+B-17,5 230 | 22 22
10 3/8" -06 Q00811120A-06-18 | Q00211120A-06-18 M18x1,5 62 | 535 | A+B-17,5 230 | 22 22
12.5 1/2" -08 Q00811120A-08-18 | Q00211120A-08-18 M18x1,5 66.2 | 55 A+B-21,8 | @38 | 27 27
12.5 1/2" -08 Q00811120A-08-20 | Q00211120A-08-20 M20x1,5 66.2 | 55 A+B-21,8 238 | 27 27
12.5 1/2" -08 Q00811120A-08-24 | Q00211120A-08-24 M24x1,5 68.2 | 57 A+B-21,8 | @38 | 27 27
25 1" -16 Q00811120A-16-30 | Q00211120A-16-30 M30x2 98.5 1835 | A+B-32,7 252 | 41 41
25 1" -16 Q00811120A-16-36 | Q00211120A-16-36 M36x2 100.5| 85.5 | A+B-32,7 252 | M 1
25 1" -16 Q00811120A-16-42 Q00211120A-16-42 M40x2 102.5| 87.5 | A+B-32,7 052 | 46 46
C

A Q00811191A

— Q00211191A

METRIC TERMINATION ENDS

Bl \ E TOI1SO 61491

Dash

PART NUMBER

Female coupling

Male coupling

THREAD

DIMENSIONS mm

Cc

D

12.5 1/2" -08 Q00811191A-08-16 | Q00211191A-08-16 M16x1,5 66.7 | 55.5 | A+B-21,8 | 038 | 27 27
12.5 1/2" -08 Q00811191A-08-18 | Q00211191A-08-18 M18x1,5 68.2 | 57 A+B-21,8 | @38 | 27 27
12.5 1/2" -08 Q00811191A-08-22 | QO00211191A-08-22 M22x1,5 67 48 A+B-21,8 | o388 | 27 27

WWW.MANULI-HYDRAULICS.COM



Q.SAFE

MQS-A TYPE

manuli’

ISO A POPPET VALVES

DN

SIZE

Inch

Dash

PART NUMBER

Female coupling

Male coupling

THREAD

Sl
=

M

Q00811770B
Q00211770B

HYDRAULICS

METRIC TERMINATION ENDS
TO1SO 8434-1
BULKHEAD L SERIES

DIMENSIONS mm
Cc D

10 | a/8" | -06 | Q00811770B-06-12 | Q00211770B-06-12 | Mi2x1,5 | 76 [ 675 | A+B-175 | @30 [ 22 | 22 | 25
10 | 378" | -06 | Q00811770B-06-14 | Q00211770B-06-14 | M14xi,5 | 75 [ 665 | A+B-175 | @30 [ 22 | 22 [ 25
10 | /8" | -06 | Q00811770B-06-16 | Q00211770B-06-16 | M16x1,5 | 75 | 665 | A+B-175 |30 | 22 | 22 | 26
10 | 3/8" | -06 | Q00811770B-06-18 | Q00211770B-06-18 | M18x1,5 | 75 [ 665 | A+B-175 | @30 [ 22 | 22 [ 26
125 | 1/2" | -08 | Q00811770B-08-14 | Q00211770B-08-14 | M14x1,56 [ 802 | 69 | A+B-218 | @38 | 27 | 27 | 25
125 | 172" | -08 | Q00811770B-08-16 | Q00211770B-08-16 | M16x1,5 [ 802 | 69 | A+B-218 | @38 | 27 | 27 | 26
125 | 1/2" | -08 | Q00811770B-08-18 | Q00211770B-08-18 | M18x1,5 [ 802 | 69 | A+B-218 | @38 [ 27 | 27 | 26
125 [ 172" | -08 [ Qo0811770B-08-22 | Q00211770B-08-22 | M22x1,5 [ 812 | 70 | A+B-218 | @38 | 27 | 27 | 27
12,5 [ 1/2* | -08 | Q00811770B-08-26 | Q00211770B-08-26 | M26x1,5 | 82.2 | 71 A+B-218 | 038 | 30 [ 30 [ 28
20 | /4" | -12 | Qo0811770B-12-22 | Q00211770B-12-22 | M22x1,5 | 100.7 | 81.3 | A+B-267 [ e45 | 34 [ 34 | 27
20 | 8/4" | 12 | Qo0811770B-12-30 | Q00211770B-12-30 | M30x2 | 105.7 | 86.3 | A+B-267 |45 | 34 [ 34 | 32
25 | 1" | -16 | Qo0811770B-16-26 | Q00211770B-16-26 | M26x1,5 | 110.5 | 92.3 | A+B-327 [e52 | 41 [ 41 | 28
25 | 1 | -16 | Qo0811770B-16-30 | Q00211770B-16-30 | M30x2 | 114.5] 96.3 | A+B-827 [e52 | 41 [ 41 | 32
25 | 1" | -16 | Qo0811770B-16-36 | Q00211770B-16-36 | M36x2 | 114.5] 96.3 | A+B-327 [ @52 | 41 [ 41 | 32

C

" _ Q00811870B

G G Q00211870B

1 'D_‘_' B e "_‘D 7 METRIC TERMINATION ENDS

N j TO I1SO 8434-1

E ‘; E BULKHEAD S SERIES

DN

SIZE

Inch

Dash

PART NUMBER

Female coupling

Male coupling

THREAD

DIMENSIONS mm
C D

10 | 3/8" | -06 | Q00811870B-06-16 | Q00211870B-06-16 | M16x1,5 76 67.5 A+B-17,5 230 | 22 22 27
10 | 3/8" | -06 | Q00811870B-06-18 | Q00211870B-06-18 | M18x1,5 76 67.5 A+B-17,5 030 | 22 22 27
12.5 | 1/2" | -08 | Q00811870B-08-18 | Q00211870B-08-18 | M18x1,56 | 81.2 70 A+B-21,8 238 | 27 27 27
12.5 | 1/2" | -08 | Q00811870B-08-20 | Q00211870B-08-20 | M20x1,5 | 81.2 70 A+B-21,8 238 | 27 27 27
12.5 | 1/2" | -08 | Q00811870B-08-24 | Q00211870B-08-24 | M24x1,5 | 83.2 72 A+B-21,8 238 | 27 27 29
25 1" -16 | Q00811870B-16-30 | Q00211870B-16-30 M30x2 | 116.5] 101.5 A+B-32,7 052 | 41 41 34
25 1" -16 | Q00811870B-16-36 | Q00211870B-16-36 M36x2 | 118.5 ] 103.5 A+B-32,7 052 | 41 41 36
25 1" -16 | Q00811870B-16-42 | Q00211870B-16-42 M40x2 | 120.5 | 105.5 A+B-32,7 052 | 41 41 40




10 3/8" -06 QO00811141A-06-16 Q00211141A-06-16 M16x1,5 64.5 | 56 A+B-17,5 230 22 22
12.5 1/2" -08 Q00811141A-08-18 Q00211141A-08-18 M18x1,5 66.2 | 55 A+B-21,8 238 27 27
12.5 1/2" -08 Q00811141A-08-20 Q00211141A-08-20 M20x1,5 67 45 A+B-21,8 038 27 27
12.5 1/2" -08 QO00811141A-08-22 Q00211141A-08-22 M22x1,5 67 48 A+B-21,8 238 27 27
C
Q00811341A
i > Q00211341A
T T T
£ — S NPTF TERMINATION ENDS
o / gt TO ANSI B 1.20.3
E F

"®
1805304 | K025
R335 | [595ed
[290%d | R
R |[5055¢d
[308254 |R8¢5e8d
5825 | 1955559
38034 | RS2
KSRGS 5<355
[0 RSS2
R0 |[5055¢
— 003908 |000e%| =oa——
R |[5055¢
(3034 | K63
RS9 5585
(05604 |[RSe2S
kg |Re
| L L e keescd
[9052504 | RS0
R |00
032504 | R4
KR [[5205
[08550d | R365
R |06
— ooy |esee | S—
RS |9
352 | R
R85 |85
[908350d | RS54
R |05
(9052504 | K802
K553 |55
(003554 | K5035 -
[0504 |R0R
BIIRA

Dash

PART NUMBER

Female coupling

Male coupling

THREAD

DIMENSIONS mm

Cc

D

Dash

PART NUMBER

Female coupling

Male coupling

THREAD

DIMENSIONS mm

Cc

D

6.3 1/4" -04 Q00811341A-04-04 | Q00211341A-04-04 1/4" NPTF 48.8 | 34.5 | A+B-142 | 024 | 17 17
10 3/8" -06 Q00811341A-06-06 | Q00211341A-06-06 3/8" NPTF 57.8 | 40 A+B-17,5 | @30 | 22 22
10 3/8" -06 Q00811341A-06-08 | Q00211341A-06-08 1/2" NPTF 60.8 | 45 A+B-17,5 | @30 | 27 27
12.5 1/2" -08 Q00811341A-08-08 | Q00211341A-08-08 1/2" NPTF 67 45 A+B-21,8 | @38 | 27 27
12.5 1/2" -08 Q00811341A-08-12 | Q00211341A-08-12 3/4" NPTF 70 53 A+B-22 038 | 34 34
20 3/4" -12 Q00811341A-12-12 | Q00211341A-12-12 3/4" NPTF 83.5 | 56.5 | A+B-26,7 | 045 | 34 34
25 1" -16 Q00811341A-16-16 | Q00211341A-16-16 1" NPTF 97.9 | 645 | A+B-32,7 | 052 | 41 41
315 | 1.1/4" | -20 Q00811341A-20-20 | Q00211341A-20-20 1.1/4"NPTF |118.0] 75.0 A+B-43 269 | 50 50
40 1.1/2" | -24 Q00811341A-24-24 | QO00211341A-24-24 1.1/2" NPTF  |133.0| 84.0 A+B-49 283 | 60 60

c Q00811250A

A B Q00211250A

10

3/8"

Dash
-06

—
R R AR KRR
s

75
IGRITRITHRN
s

3
00%}

X
Yetek

QR
IR
RS

X

Ot Ietotetote®

0%
%
[ofetotetatetet
=

PART NUMBER

Female coupling

Q00811250A-06-08

Male coupling
Q00211250A-06-08

THREAD

3/4"-16 UNF

67

58.2

SAE TERMINATION ENDS
TO IS0 8434-2

DIMENSIONS mm

Cc
A+B-18,1

D
230

WWW.MANULI-HYDRAULICS.COM



Q.SAFE___ MQS-A TYPE ‘l‘
ISO A POPPET VALVES HYDRAULICS
C
A B A00811301A
/ SAE TERMINATION ENDS
At,: TO SAE J1926-1
E
SIZE PART NUMBER DIMENSIONS mm
THREAD
Inch Dash Female coupling Male coupling Cc D
6.3 1/4" -04 QO00811301A-04-06 QO00211301A-04-06 | 9/16"-18 UNF 50 34.5 A+B-14,2 @24 17 17
10 3/8" -06 Q00811301A-06-06 Q00211301A-06-06 9/16"-18 UNF | 64.5 56 A+B-17,5 230 22 22
12.5 1/2" -08 QO00811301A-08-08 Q00211301A-08-08 3/4"-16 UNF 67 45 A+B-21,8 238 27 27
12.5 1/2" -08 QO00811301A-08-10 Q00211301A-08-10 7/8"-14 UNF 69 50 A+B-21,8 238 27 27
12.5 1/2" -08 QO00811301A-08-12 QO00211301A-08-12 | 1-1/16"-12 UN 73 54 A+B-21,8 238 34 34
C
A B Q00211230A
G G
PR — =
o - SAE TERMINATION ENDS
TO ISO 8434-2
- U BULKHEAD
E F

Dash

PART NUMBER

Female coupling

Male coupling

THREAD

DIMENSIONS mm
c D E

10 | /8" | -06 | Q00811230A-06-06 | Q00211230A-06-06 | 9/16"-18 UNF | 83.8] 75 | A+B-18 [ 30 | 22 | 22 | 22

10 | a/8" [ -06 | Q00811230A-06-10 | Q00211230A-06-10 | 7/8'-14 UNF [91.3[79.6 [ A+B-17,5[ @30 [ 27 [ 27 | 41

125 | 1/2* | -08 | Q00811230A-08-08 | Q00211230A-08-08 | 3/4"-16 UNF |91.8]80.6 | A+B-21,8 | @38 | 27 | 27 | 366

125 | 1/2* | -08 | Qo0811230A-08-10 | Q00211230A-08-10 | 7/8"-14 UNF | 95.3]84.1 | A+B-21,8 | 038 | 27 | 27 |40.1
c Q00811320A

A B

Q00211320A
. e e lf-———- F— ORB TERMINATION ENDS
— TO SAE J1926-2
S SERIES

PART NUMBER

THREAD

DIMENSIONS mm

Dash Female coupling Male coupling Cc D
10 3/8" -06 Q00811320A-06-06 | Q00211320A-06-06 | 9/16"-18 UNF | 63 | 54.4 | A+B-17,5 | 230 | 22 22
12.5 1/2" -08 Q00811320A-08-08 | QO0211320A-08-08 | 3/4"-16 UNF 70 60 A+B-21,8 | 238 | 27 27

manuli’

Q.SAFE

347




QSAFE _ MQS-A TYPE ML manuli’

ISO A POPPET VALVES HYDRAULICS

Q00811240A
A B Q00211240A

R

R0

X
&
b3
SR8

X
XL
2%
X
X

X
o

o

%

X
X
o
%

=
ot
X
00
2
X
8

b

X
ootetele!

1.l ORFS TERMINATION ENDS
TO IS0 8434-3

RXRRX
X
A
R
AR
|
|

=
=
K
%

X

K
KSR | [0

%
2R
%%
%
%

2R3
%

o0%es
%
S

X
5K
==

2%
s
o

%3

X
%%
X

2

RS
o2
3
XX

PART NUMBER DIMENSIONS mm

THREAD
Dash Female coupling Male coupling A C D

10 3/8" -06 Q00811240A-06-04 | Q00211240A-06-04 | 9/16"-18 UNF | 60.8 | 52.3 | A+B-17,5 | @30 | 22 22
10 3/8" -06 Q00811240A-06-06 | Q00211240A-06-06 | 11/16"-16 UN | 61.2 | 52.7 | A+B-17,5 | @30 | 22 22
12.5 1/2" -08 Q00811240A-08-08 | Q00211240A-08-08 | 13/16"-16 UN | 66.2 | 565.8 | A+B-21,8 | @38 | 27 27
25 1" -16 Q00811240A-16-16 | Q00211240A-16-16 | 1.7/16"-12UN | 100 | 81.8 | A+B-32,7 | 052 | 41 41

(03
D
(00)

WWW.MANULI-HYDRAULICS.COM



Q.SAFE MQS-A TYPE

WML /nan uli

ISO A SHIELDED POPPET VALVES

I
I

P

PART NUMBER
THREAD

Male coupling

HYDRAULICS

Q00411041A

BSP TERMINATION ENDS
TO DIN 3852 X TYPE

DIMENSIONS mm

12.5 1/2" 08 Q00411041A-08-08 1/2"

47 27

PART NUMBER
THREAD

Q00411341A

NPTF TERMINATION ENDS
TO ANSI B 1.20.3

DIMENSIONS mm

Male coupling

12.5 1/2" 08 Q00411341A-08-08 1/2" NPTF

47 27

PN
—

PART NUMBER
THREAD

Male coupling

Q00411301A

SAE TERMINATION ENDS
TO SAE J1926-1

DIMENSIONS mm

12.5 1/2" 08 Q00411301A-08-08 3/4" UNF

47 27

0
g
™



